BF—RITILA

2 —1
T, FH 2 [ ;f:f;} 2 =4 =8
(\FBRR) 21 - 14 (R R %)
GEt) ‘
21-15 2 3 14-21
. LR R 4 [Q_KJ
GEEAR)
1 0 EiH. fEE
INK. S F 1 (ZVFLR)
(KIFHE) GBI
BF1EHI0mATILA
2 —1
19 — 21
21 -5
[ 21 - 16}
RS, Ll ‘ &, LA
GBI 1 GBI

(K DHEBEE = ImhE) \BEE)



BF—HBIUTILA

(FATR fmbse) 2—-0 (FaIma T 1% FT)
21 -8 2
! [ 21 - 14 ] 3
8% I &
GEERE) 5 6 [18_21 N GEERAR)
7 21 -18
T () 2 21 NI
(\ABIKH) (FTmaTH % FT)
2 = 1
=5 (H) EE
(PTRETH % FT) 1 (A7)
BF1EHI0mMIUTILA
53] 0 Al
GEALiRE) 2—-0 GEIbiRR)
21 -16 2
[ 21 -19 ] 2
I LA
21 -17 ] [ 21-13 J (\FBRE)
21 -15 6 21 -12
=111 1 2 WA ()
(KD ERER =R GBRIAbRE)
1 3
2 0
WA (%) =i
(PaTRETH % FT) 2 1 (HEFRE)
BF1EA40Rm VT LA
2—-0
21 - 11
[ 21 -9 ]
HE I BE
GER&E) 1 (E¥JIro57)
TFIMN)—
2EATILA 40FATILRA
INE =R
B®A ‘ HE
(TRYZSD) (N 4 A1)



